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PART-I: Choose the best answer for the following

quesﬁonsllpt.Eachl

1. Consider the following python code

Lst=[0,2,10,6,3,-4]
Lst.reverse()

Lst.pop()
Lst.insert(1,3) I
print Lst

A. [0,2,3,10,6,3] i C. [4,3,3,6,10,2]

B. [0,2,10,6,3,3] | D. [3,-4,3,6, 10, 2]

Which one of the following modes (barameter) is used to write onto a file?
A- C‘a”

B “W”

C. “rh

D

D. BandC
E. AandB

3. Consider the following python code? \
a= "Engineering" &

b= "Engineering"
b+=3a

print a is b
A. True

B. False

Consig ler the following python code

tp= (e, 2, 3, 4, 45, 55)

print tp[-5] + tp[5]
A. 45

B 55

€. 57
D. 47

Which one of the following is the correct definition of a tuple?
A. A=[1,2,34,5]

B. A=1,2,345" -
C. A=(1,2345)
D: A={1,2,3,4,5)
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